Fri. Sept. 4 — Intro. to Environmental Studies: Discussion Notes

Malthus, chs. 1 and 2

Ch.1
0

Ch. 2

Darwin, ch. 14

4 — caricatures A and B (can you think of a current example of this?)

8§ ‘the advocate for the present order of things’

8 ‘the advocate for the perfectibility of man’
5 — two postulata

8 ‘That food is necessary for the existence of man’

§ ‘that the passion between the sexes is necessary and will remain in its present

state’

5 — ‘assuming then my postulata as granted, | say, that the power of population is
indefinitely greater than the power in the earth to produce subsistence for man.” (can you
ritique the logic of this statement?)
6 — ‘Population, when unchecked, increases in a geometrical [=exponential] ration.
Subsistence increases only in an arithmetical ratio.” [a critique = Haber Bosch process of
atmospheric nitrogen fixation, hybrid corn - example of I=PAT]
“The race of plants and the race of animals shrink under this great restrictive law. And the
race of man cannot, by any efforts of reason, escape from it. Among plants and animals
its effects are waste of seed, sickness, and premature death. Among mankind, misery and
vice.” (what is the assumption here?)

7- ‘population, when unchecked, goes on doubling itself every twenty-five years’ (using
frontier USA as a template)

‘if 1 allow that by the best possible policy, by breaking up more land and by great
encouragements to agriculture, the produce of this Island may be doubled in the first
twenty-five years’ (using England as a template)

‘let us take the whole earth, instead of one spot, and suppose that the restraints to
population were universally removed’ (what’s the problem with this logic?)

1 — “the theory of descent with modification through natural selection’

‘natura non facit saltum’ (“nature doesn’t make jumps’)

2- “Why does not every collection of fossil remains afford plain evidence of the gradation and
mutation of the forms of life?’... the geological record is far more imperfect than most geologists
believe’ (why else might this be true?)

4 — “‘under domestication we see much variability’

5- “‘man does not actually produce variability; he only unintentionally exposes organic beings to
new conditions of life, and then nature acts on the organization, and causes variability. But man
can and does select the variations’

10 - ‘on this view of migration, with subsequent modification, we can see why oceanic islands
should be inhabited by few species, but of those, that many should be peculiar.” (why does this
follow if you accept natural selection?)



11 - “we can see why certain characters are far more serviceable than others for classification —
why adaptive characters, though of paramount importance to the being, are of hardly any
importance in classification; why characters derived from rudimentary parts, though of no service
to the being, are often of high classificatory value; and why embryological characters are the most
valuable of all.” (what is this saying?)

12 — “the mind cannot possibly grasp the full meaning of the term of a hundred million years’
16-17 - closing paragraph: ‘it is interesting to contemplate an entangled bank...’

Carson, chs. 1 and 2
Preface

0 xiii — Carson ‘observed that the captains of industry took no notice of the defilement of
her hometown and no responsibility for it. The experience made her forever suspicious of
promises of “better living through chemistry” and of claims that technology would create
a progressively brighter future.

0 xvi — ‘she categorically rejected the notion proposed by industry that there were human
“thresholds” for such poisons, as well as its corollary, that the human body had
*assimilative capacities”.

0 ‘Carson was a woman out of control. She had overstepped the bounds of her gender and
her science...in the end, the worst they could say was that she had told only one side of
the story and had based her argument on unverifiable case studies’

Ch. 2, The Obligation to Endure

0 6 - ‘chemicals are the sinister and little-recognized partners of radiation in changing the
very nature of the world’ (are chemicals really sinister per se? Why is she using
loaded language like this?)

0 7 - ‘These sprays, dusts, and aerosols are now applied almost universally to farms,
gardens, forests, and homes—nonselective chemicals that have the power to kill every
insect, the “good” and the “bad”

0 8- "‘Since DDT was released for civilian use, a process of escalation has been going on in
which ever more toxic material must be found. This happened because insects, in a
triumphant vindication of Darwin’s principle of the survival of the fittest, have evolved
super races immune to the particular insecticide used, hence a deadlier one has always to
be developed’

0 ‘the contamination of man’s total environment’ (what do you think this means?)

0 9 - “We are told that the enormous and expanding use of pesticides is necessary to
maintain farm production. Yet is our real problem not one of overproduction?’

0 10 - “Under primitive agricultural conditions the farmer had few insect problems. These
arose with the intensification of agriculture—the devotion of immense acreages to a
single crop. Such a system set the stage for explosive increases in specific inspect
populations.” (why would this be true?)

0 12 - ‘It is not my contention that chemical insecticides must never be used. | do contend
that we have put poisonous and biologically potent chemicals indiscriminately into the
hands of persons largely or wholly ignorant of their potentials for harm.” (what are some
scenarios where use of pesticides like DDT would be justified?)



